

Setze die fehlenden Beträge ein

$20\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 20\text{ct} = \underline{\quad\quad}$

$70\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 60\text{ct} = \underline{\quad\quad}$

$80\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 30\text{ct} = \underline{\quad\quad}$

$60\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 90\text{ct} = \underline{\quad\quad}$

$15\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 30\text{ct} = \underline{\quad\quad}$

$30\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 70\text{ct} = \underline{\quad\quad}$

$90\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 40\text{ct} = \underline{\quad\quad}$

$15\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 80\text{ct} = \underline{\quad\quad}$

$95\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 45\text{ct} = \underline{\quad\quad}$

$75\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 55\text{ct} = \underline{\quad\quad}$

$35\text{ct} + \underline{\quad\quad} = 1\text{€}$

$1\text{€} - 100\text{ct} = \underline{\quad\quad}$